Violin I

Symphony #1(2) in C

2nd Movement (3'55"")
Michel Rondeau
Adagio ( D =circa 60)
(> : ===
H 1= - -
Q) & [ ] @ .‘..' -‘-1“‘ & & & Tw
10
== i - o oo o oo BESa
’(ﬂ v . /[ I
g o o° fe
21
f ~ _ oo,
=4 — o = =ty
ANV (@ ]
Y,
28
r]
—0- . - . - o ——— S
1 L 07._&3.'}/ ] ql"'_P_l/ / o/‘fq i @l & @
Py) y Ej H_H_H_
33 o Piu Mosso ( D =circa 75)

2
o >  a /o A — A —
y- {' _P' {' = - o - y— - 1

CESaSas eSS R enias e S B asiasect
48
= prosfe ofose e e e
| O an WL / / | ] |

ANV

o = =
51 Adagio ( D =circa 60)

= —
S Portaor e Pon t , =5
\;)\} . I ; / /l /l / H // //
rit.
59
4 | 1 1 '_ q_ > _Q
7] 0 7] | / / ] L ] [ 7] [ 7]
5 e —| —7
e .
rit.




